



St. Louis County, Minnesota

Date of Report: 5/14/2025 11:11:58 PM

General Details

Parcel ID: 380-0010-05660 Document: Abstract - 01439063

Document Date: 03/10/2022

Legal Description Details

Plat Name: **GRAND LAKE**

> **Township** Range Lot **Block**

16 27 51

Description: NW1/4 OF SW1/4 EX THAT PART COMM AT NW COR OF SAID NW1/4 OF SW1/4 THENCE S ALONG W LINE

370 FT TO PT OF BEG THENCE E PARALLEL WITH N LINE OF SAID NW1/4 OF SW1/4 495 FT THENCE S PARALLEL WITH W LINE OF SAID NW1/4 OF SW1/4 440 FT THENCE W PARALLEL WITH N LINE OF SAID NW1/4 OF SW1/4 495 FT MORE OR LESS TO W LINE OF SAID NW1/4 OF SW1/4 THENCE N ALONG W LINE

440 FT MORE OR LESS TO PT OF BEG

Taxpayer Details

Taxpayer Name **BLOM JAMES O & KATHRYN A**

and Address: 4970 CANOSIA RD

SAGINAW MN 55779

Owner Details

BLOM JAMES OSCAR Owner Name Owner Name BLOM KATHRYN ANN

Payable 2025 Tax Summary

2025 - Net Tax \$7,073.00

2025 - Special Assessments \$29.00

\$7,102.00 2025 - Total Tax & Special Assessments

Current Tax Due (as of 5/13/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$3,551.00	2025 - 2nd Half Tax	\$3,551.00	2025 - 1st Half Tax Due	\$3,551.00	
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$3,551.00	
2025 - 1st Half Due	\$3,551.00	2025 - 2nd Half Due	\$3,551.00	2025 - Total Due	\$7,102.00	

Parcel Details

Property Address: 4970 CANOSIA RD, SAGINAW MN

School District: 704 Tax Increment District:

Property/Homesteader: BLOM, JAMES O

Assessment Details (2025 Payable 2026)								
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
201	1 - Owner Homestead (100.00% total)	\$126,200	\$492,100	\$618,300	\$0	\$0	-	
111	0 - Non Homestead	\$58,300	\$0	\$58,300	\$0	\$0	-	
	Total:	\$184,500	\$492,100	\$676,600	\$0	\$0	7062	





St. Louis County, Minnesota

Date of Report: 5/14/2025 11:11:58 PM

Land Details

Deeded Acres: 35.00 Waterfront: Water Front Feet: 0.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

		Improve	ement 1 De	tails (HOUSE)		
Improvement Type	Year Built	Main Floor Ft ² Gross Area Ft ² Basement Finish St			Style Code & Desc		
HOUSE	1989	1,37	70	2,390	AVG Quality / 350 Ft ²	1S+ - 1+ STORY	
Segment	Story	Width	Length	Area	Foundation		
BAS	1	2	5	10	CANTILEVER		
BAS	1.7	6	24	144	BASEMENT		
BAS	1.7	8	26	208	BASEMENT		
BAS	1.7	18	28	504	BASEMENT		
CW	0	0	0	153	PIERS AND FOOTINGS		
DK	0	0	0	198	POST ON GROUND		
OP	0	2	8	16	FOUNDATION		
OP	0	4	5	20	FOUNDATION		
Bath Count	Bedroom Co	ount	Room Co	unt	Fireplace Count HVAC		
2.75 BATHS	-		-		0 Ca	&AC&EXCH, PROPAN	
		Impro	vement 2 [Details (AG)			
mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des	
GARAGE	1990	57	6	864	- ATTACHEI		
Segment	Story	Width	Length	Area	Foundation		
BAS	1.5	24	24	576	FOUNDATION		
		Improv	ement 3 De	etails (BARN)			
mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish Style Code 8		
BARN	1989	72	0	720	-		
Segment	Story	Width	Length	Area	Foundation		
BAS	0	24	30	720	POST ON GROUND		
LT	0	7	18	126	POST ON GROUND		
LT	0	10	24	240	POST ON GR	ROUND	
		Improveme	nt 4 Details	s (STORAGE	OP)		
Improvement Type	Year Built	Main Flo	oor Ft ²	Fross Area Ft ²	Basement Finish	Style Code & Des	
TORAGE BUILDING	1989	10	8	108	-	-	
0	Story	Width	Length	Area	Foundati	on	
Segment	•				POST ON GROUND		
BAS	0	9	12	108	POST ON GR	ROUND	





St. Louis County, Minnesota

Date of Report: 5/14/2025 11:11:58 PM

					Date of Repo	ort: 5/14	/2025	11:11:58 PI	
		Improvem	ant E Dataila /	OLD CARINI					
Impressoment Tree	Voor Built	•	ent 5 Details (•	sement Finish		tula C	ada ^o Daga	
Improvement Type Year Built		t Main Fi 12		SArea Ft Ba	isement Finish	3	ityle C	ode & Desc.	
STORAGE BUILDI			Length	Area	- Farm dation			-	
BAS		•	12	120	Foundation POST ON GROUND				
DAG	0	·		·	1 0 3 1 0 1 1	GROOM			
		•	nent 6 Details	•					
Improvement Type Year Built			Main Floor Ft ² Gross Area Ft ²		Basement Finish Style Code		ode & Desc.		
UTILITY	0		1,920 1,920						
Segme		•	3		Foundation				
BAS		_	32 60 1,9		FLOATING SLAB				
LT	0	12	60	720	POST ON	GROUN	<u></u>		
		Sales Reported	to the St. Lou	iis County Audit	or				
No Sales informa	ation reported.								
		А	ssessment His	story					
Year	Class Code (Legend)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	ВІ	ef Idg MV	Net Tax Capacity	
2024 Payable 2025	201	\$126,200	\$501,900	\$628,100	\$0	_	30	-	
	111	\$58,300	\$0	\$58,300	\$0	\$	60	-	
	Tota	\$184,500	\$501,900	\$686,400	\$0	\$	60	7,184.00	
	201	\$97,300	\$376,500	\$473,800	\$0	9	50	-	
2023 Payable 2024	111	\$44,000	\$0	\$44,000	\$0	\$	80	-	
	Tota	\$141,300	\$376,500	\$517,800	\$0	\$	60	5,178.00	
	201	\$51,800	\$416,200	\$468,000	\$0	9	50	-	
2022 Payable 2023	111	\$40,400	\$0	\$40,400	\$0	\$	60	-	
2022 1 dyddio 2020	Tota	\$92,200	\$416,200	\$508,400	\$0	\$	60	5,084.00	
	201	\$49,800	\$352,600	\$402,400	\$0	\$	60	-	
2021 Payable 2022	111	\$36,800	\$0	\$36,800	\$0	\$	80	-	
	Tota	\$86,600	\$352,600	\$439,200	\$0	\$	60	4,382.00	
			Γax Detail Hist	ory					
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land N	Taxable Building MV MV Total Taxabl			I Taxable MV	
2024	\$5,437.00	\$25.00	\$5,462.00	\$141,300	\$376,50	00		\$517,800	
2023	\$5,609.00	\$25.00	\$5,634.00	\$92,200	\$416,20	\$416,200		\$508,400	

2022

\$5,475.00

\$25.00

\$5,500.00

\$86,473

\$351,703

\$438,176





St. Louis County, Minnesota

Date of Report: 5/14/2025 11:11:58 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.